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QUESTION 1

A delivery company currently has a process where office staff must update a number of legacy systems with the status
of deliveries from paper-based forms. The company wants to deploy new wireless handheld devices to their drivers so 

they can report on the progress of daily deliveries in real-time. 

What should be the initial approach for this scenario? 

A. Analyze the business process to uncover a new business model, then create service wrappers for legacy systems. 

B. Create service wrappers for legacy systems, then aggregate existing data and enable human interaction. 

C. Create service wrappers for the legacy systems, then reuse them in different processes. 

D. Analyze the existing information sources to deliver them as a service, then reuse the services in different processes. 

Correct Answer: B 

 

QUESTION 2

A mobile phone company is losing money on the process for deactivating a phone when it is reported stolen or lost due
to lag time between notification and deactivation. In the current SOA solution, call center staff disable the phone via a
portlet that invokes a deactivation service which calls a mainframe application. The mainframe application notifies the
telecom provider to deactivate the phone. What is a likely cause of the issue and which aspect of the solution makes the
problem worse? 

A. System capacity and peaks in the demand on this process 

B. Throughput and the time of day that people most commonly report mobile phone theft 

C. System reliability and the skills of the administrative staff involved 

D. System availability and the downstream systems 

Correct Answer: D 

 

QUESTION 3

Which statement about SOA service design is true? 

A. Statefulness is desirable as it implies that the service provider holds parameters in memory between invocations
avoiding data communication costs. 

B. Loose coupling implies that services should be designed using standardized interfaces and open standards. 

C. Service granularity implies the service must have the smallest amount of functionality in the subsystem. 

D. Encapsulation implies that services should hide the implementation details from their interface design. 

Correct Answer: D 
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QUESTION 4

An SOA project consists of services deployed in a heterogeneous distributed environment that includes an Enterprise
Service Bus (ESB). When adding a requirement for routing management, how should it be implemented? 

A. As additional mediation capabilities within the existing ESB 

B. As additional management capabilities within the existing ESB 

C. As specific mediation functions implemented as separate proxies 

D. As a specific management function implemented in a federated ESB 

Correct Answer: A 

 

QUESTION 5

A large machine manufacturing company is using WebSphere Message Broker as an Enterprise Service Bus (ESB)
providing routing and transformation functions. Manufacturing data is available from MQ enabled CICS transactions. 

Customer information is available via existing Web services on WebSphere Process Server (WPS) accessing UDB via
JDBC. They are developing a new service to track the status of a customer\\'s specific machine through production.
The 

SOA Designer has decided to first create a Manufacturing Information service on WPS using JMS to access the CICS
transactions. 

What is the rationale for this approach? 

A. Reusability 

B. Reliability 

C. Portability 

D. Data Consistency 

Correct Answer: A 

C2160-667 VCE Dumps C2160-667 Practice Test C2160-667 Braindumps

C2160-667 VCE Dumps | C2160-667 Practice Test | C2160-667 Braindumps                                3 / 4

https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html


https://www.pass4itsure.com/C2160-667.html
2022 Latest pass4itsure C2160-667 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4itsure, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

C2160-667 VCE Dumps | C2160-667 Practice Test | C2160-667 Braindumps                                4 / 4

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html
https://www.pass4itsure.com/C2160-667.html

